KFUPM Term 042 Date: 28/5/2005

Mathematical Sciences STAT 212 Duration: 50 minutes
Lab Exam

Name: ID#: Section#: 1 2 3 Serial#:

Write down the final answer

1. The decision of testing that the mean of WIM 6Gross Wgt

.
exceeds 63000 is A ; |
2. The p-value for testing that the percentage of month 6 is

—
less than 18% is 05
3. The test statistic for part (2) is O
4. The estimate for the mean difference between the WIM
Length and the POE Length is 0 E -

5. The test statistic for testing that the mean WIM Length @
exceeds the mean POE Length is J- U
6. The p-value for testing that the percentage of the length

o i
55 in WIM Length exceeds that in POE Length is g.90 /5

7. The p-value for testing that the standard deviation of the
WIM Gross Wgt exceeds 20000 is

8. The test statistic for testing the presence of a
difference between the variances of WIM Gross Wgt and
the POE Gross Wgt is

O . 0o

9. The decision for testing the presence of a difference Rei U
‘ \63) - ottt e
between the variances of WIM Gross Wgt and the POE

Gross Wgt is (@(H @Z'j”l")

10. Do the data provide sufficient evidence to conclude that N %

™1 B




the Temperature variable is normally distributed?

/’ ﬂﬂﬂﬂﬂﬂ ,/ /
11. The test statistic for testing that TempClass is i
independent from SpeedClass is (table is in columns L & H) é : ? § g
12. The decision for ftesting that TempClass is independent
oL
from SpeedClass is RS S

Answer the questions 13-20 if the Speed is to be predicted using the other

variables

13. The infercept & the slope of the Temperature in the

Intercept: s ¢ 7

fitted regression equation are

Slope: . 0 L2

14. The p-value for the overall significance of the model is

0
15. The colinearity of the POE length is —
P

16. Is the WIM A Wgt significant in predicting the Speed? |Isit? N ¢
Why? Why? bo 0.4
17. The best group using the stepwise method for predicting

b (M Leegth
the Speed is Do Loyl

}\’Lo V\,-'}’L\
18. The multiple correlation coefficient is 0. USY
19.The variance of the variation of the fitted values about
the regression plane 2.4-0 z
20. The test statistic for testing the significance of POE .25
Gross Weight is and the conclusion is Not Sig. (Aa‘-)

With My Best Wishes

B




